BN ERIEH R EUEEH HU—070

Ultrasonic suspension standing wave
controller fabrication kit

KT ERRS:

1LERRE : EF102—12 5, FTF13 2—18 = (A—EIAN)
2@ HER—A . ERESGRB (FERRE )

Detailed installation tutorial can be obtained by scanning QR code on mobile Phone.

I .7oiFiBEE BoM

HU-070 BRI IHRITHISBHIEEN

F e HE s
= B Name /Label /Number &iE/Note
N ceramic capacitor ;
1 HRHHZE 0. 1uF/104 0. 1uF/104 c2, ¢4 2 Tt
2 EfESEE 1K DIP resistor 1K R1 1 apolhability
3 HiRHBEHEE 100F DIP E-capacitor 10uF c1, C3 2 +455-
3mm 4Ik4T Long + short
4 EELED 3mm Red DIP LED LED1 1 i
5 BEREERS Ultrasonic sensor P2 2
16mm/40KHz 16mm/40KHz
AMS1117-5.0
AMS1117-5.0
6 Linear voltage U1 1
LA regulator
2R SCM
7 STC8G1K17A-361-DIP8 STC8G1K17A-361-DIP8 u2 1 ﬁk H fi‘ rﬁ]
ICEE 1C 1FHHE Notch
8 HiE 8P DIP IC pedestal 8P u2 1 direction
9 TC4427 &K/ TC4427 Chip u3 1
10 DC B3 ;R iHEE DC power socket DC1 1
11 BiZiak Suspended foam - -
12 FEER4R A/B PCB A/B PCB 1/1
13 WEREEE Double knurled copper 2
M2X23 column M2X23 EEE-UE:IE
14 BRI Single-pass knurled 2 -
M2X20+4 copper column M2X20+4 Bua 'E’E
15 BiERTAE Single—pass knurled 6 Free
M2X5+3 copper column M2X5+3 Screw bag .
regulation
16 M2 32 & M2 Nut 4
Altitude
17 M2 #RZ2 M2X4 M2 Screw M2X4 4

18 LR Specification 1
19 12V iR ER 28 12V power adapter 1 J%EBL/assorting

I.ABRRETHSH

sV

Schematic& Component map

VIN
,: ul sv
RX
DC1 ' 4 4 Vin  Vout A — 1
CU _[*' c1 c2 GND + c3 c4 —_—2
T 10uFT100rF T 10uF —|—100nF GND_‘\|J i
a1 5 y
LED1 = Pl
N AMSI11175.0
GND
GND
uz2 u3
1 {%s4 p33 |2 LI%c NC
. 2| 32 3 2
SV—— vce 22— 5 INA OUTA
PSS P3I/TXD [—ptr < GND VDD
L.ND'll GND P3.0/RXD INB OUTB
STC8G1K17A TC4427
GND

BEER: ATETEVUMEZHR, ALEREIED, BHRD “M2X5+3” g
BRLEE, AT ATHBERFLZENES, ANMAREFHERER.

Tips: In order to facilitate the appearance and suspension effect, you can freely load and
unload the "M2X5+3" single-pass klivan copper column during the installation process, which is

used to adjust the distance between the ultrasonic probe, so as to achieve a better use effect.

HU-070A

O-

V1.0_240104

HU-070 V1.0_240118

O+




R AR R — T B E S,

For detailed welding & shell assembly steps, please scan the QR code to view the graphic tutorials.

N

|
0
<
a

)
@
~
o~
~
()
\¥o)

1. 1B TC4427 B, FEDRZENSHEER
LLENIFT GEN 22BN R B X R L BR AR 22 BT
MIEE) . 1. Weld the TC4427 chip, and align the
chip screen with the circuit board screen (the
white dots on the chip screen correspond to the
white dots on the circuit board screen).

2. 1R3E ANS-1117, SEEERIRZENN T, EEIE
R, SIMAEER.
2. Weld AMS-1117, align with the screen printing

of the circuit board, pay attention to the welding,
do not weld the pin.

3. 12 1K BEPAFN 100nF BB%, HFEFBAET
STIESIR
3, welding 1K resistance and 100nF capacitor,

resistance and capacitance are not positive and
negative.

AJRET 6 LED \T |, JERNTRISIM , RIERGMR

SERERZENXIFEHITIEE,

4. Weld the red LED light, pay attention to the pin
of the light, long positive and short negative, align
with the screen printing of the circuit board
before welding.

D1727A_P46-240119

5. 1R¥ 8 M) ICHEEE, FEMROFG RSB
LLENFFFT .

5. Weld the 8-pin IC socket, and note that the
notch direction is aligned with the screen printing
of the circuit board.

6\ SRR EBEAREN 100F B9 C1. C3 AR
&, IEBMBERESNN. 6. WeldCland C3
electrolytic capacitors with capacitance of 10uF
respectively, paying attention to the positive and
negative electrodes of the electrolytic capacitors.

TEVE
—= ocii

=

12V

A_P46_-240119

7. {R¥% DC HRIRRE, FEFLAL.
7. Weld the DC power socket and pay attention to

the hole positions.

9. MR ICHERR, FECRHOA
) 5 B BR AR 22 EN X L

9. Insert the chip into the IC socket, and note that
the direction of the chip gap corresponds to the
screen printing of the circuit board.

10, 8 M2 82370 M2X5+3 B @A E—RE,
FEE IR,

10. Lock the M2 nut and M2X5+3 single-pass
copper post together, paying attention to the
screw hole position in the picture.

8. BEMNEBARERSE, TEEMAR GBA
RS L EREREREBEMNAER .

8. Weld two ultrasonic sensors, paying attention
to the positive and negative poles (the one with
black circle on the ultrasonic sensor is positive).

11, FE—: F M2X23, M2X20+4 F1 M2X4 1822
BEATEE AR, EBERIRAIERIT R AR,
R RIIERR . (E2HRE, TAMES)
11, Scheme 1: Use M2X23, M2X20+4 and M2X4
screws to fix the two circuit boards, the positive
pole corresponds to the negative pole, and the
negative pole corresponds to the positive pole.
(Strong suspension effect, higher practicality)

12, FRZ: T R—HER EIZ A M2X5+3
RsEEE. (EmEN, BEREFURERE, &
WERAE—)

12. Scheme 2: Add two M2X5+3 copper columns
on the basis of Scheme 1. (More beautiful, but the
suspension effect is poor, it is recommended to
use Scheme 1)




